
■ 上から1けたのがい数に直してから、かけ算をしましょう。(「約」は不要です。)

① 512 × 7695 × =

② 44 × 2501 × =

③ 3882 × 5295 × =

④ 3322 × 408 × =

⑤ 253 × 73 × =

⑥ 87 × 923 × =

⑦ 9099 × 24 × =

⑧ 6443 × 4730 × =

⑨ 499 × 4586 × =

⑩ 466 × 359 × =

⑪ 48 × 2775 × =

⑫ 3753 × 193 × =

がい数のかけ算
年 組 名前
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■ 上から1けたのがい数に直してから、かけ算をしましょう。(「約」は不要です。)

① 512 × 7695 500 × 8000 = 4000000

実際の答え : 3939840

② 44 × 2501 40 × 3000 = 120000

実際の答え : 110044

③ 3882 × 5295 4000 × 5000 = 20000000

実際の答え : 20555190

④ 3322 × 408 3000 × 400 = 1200000

実際の答え : 1355376

⑤ 253 × 73 300 × 70 = 21000

実際の答え : 18469

⑥ 87 × 923 90 × 900 = 81000

実際の答え : 80301

⑦ 9099 × 24 9000 × 20 = 180000

実際の答え : 218376

⑧ 6443 × 4730 6000 × 5000 = 30000000

実際の答え : 30475390

⑨ 499 × 4586 500 × 5000 = 2500000

実際の答え : 2288414

⑩ 466 × 359 500 × 400 = 200000

実際の答え : 167294

⑪ 48 × 2775 50 × 3000 = 150000

実際の答え : 133200

⑫ 3753 × 193 4000 × 200 = 800000

実際の答え : 724329

がい数のかけ算
年 組 名前
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